EARAROBEEIERT — 2 N— IBISH —F

2012 11B3A (£) SEI=#1H

R REXA

REEFI

[($57E] Fikb

‘ [R1%] & ‘ [REBB] — | & (&) 14000 B

[~®%] 1 % :5,000,000 @ ~ 23 :2,000,000H ~ 33&:

1,300,000 § 4 & :750,000 @ 5 7& :500,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N MEBEZ 126. = . — FEHBEA (ER)

111118/ TR ito2 54.0% 1(2_6)4 3 %5 2 (4_628) %11 IE3T

LN=Y7514 B:AN—H%L—-X> [ed=tie]
o= S o2 | AR 1:26.5 2-2 8.7 — 1 484 | RERFT (ER)

2 5| >4 X b=7 55.0 (1/2) © |HEmE
LG4 TAS v— B4 A k=7 B
35 . o2 | JIERE 1:26.6 7-7 38.3| — 9 520 | fELME (FER)

£1 6 BIREAZ2 et 55.0 (1/2) (+4) i — 8
L:evIZ7) BEYIN—7— At HEER

= g o2 | Bo#EN 1:26.7 6-5 38.4| — 4 462 | AE—R (RR)

4|56 2TLT7ZTR 5.0 (1/2) o |BESHYILY

RFATAT v — BEALRTIRYSY (B) HBaI—KL—Ya>AET7
N — N > JNBfE= 126. - . — NHEE (EXR)

slglin) 72770519 2 e 1(216)9 9-8 38.2 7 (4_822) ARl

L:FLNTyTFItE B:IZ—Fv> ZH EC
} RN o) _ ] _ BERRAIME (ER)

el 3| xxp7L77 "2 Ee ! I R | o A
R:TINTFNT22 B:LHTT7 FE E-
e L t 2 | BRE 1:27.4 n-11 381 — | 11 | 42 |EBEE (Fx)

7 9| ¥TINITZ g 5.0 ) +12) W) TN kAT
LT RIAYRY BFaut—H—F chakifis

(TS S st 2 | I 1:27.7 3-3 39.7| — 3 490 |HBERMR (RR)

8 2 2—H a4 R 55.0 (1 3/4) *+2) HAHEE—
R:YIRT4 752 B:ardvv544 +H ®EF
- = #o2 | AREE 1:27.8 1313 | 37.7| — 12 | 468 |HBEIT (FER)

ol 4| =Y/ NYT 5.0 (3/4) Ca) |EETET
R:xALZG7—2 B:HRTavieii ZR77—L4
S S o2 | BEREN 1:27.9 9-10 39.0 — 10 | 444 | RERBK (ER)

10fz|11| 7> FA 1Y% 8.0 (7€) o) | AHES
L:xyaNa)— B:o54% INT B

= s . BHZ : = — AEEM (EX)

mlsl 7173970 o2 BRE 1.(238).4 12-12 | 38.8 13 (4::38) i

LNMLTAY BIVE-UyTX
38 - H -

121710l 17U i 2 o 1(/72?:;1 8-8 39.8 6 &2)
L:TAIWVRTyYa B:XAXAH/797H— 797777 — L4
S S o2 | ESEE 1:28.8 3-5 40.8| — 8 462 | BEEH (ER)

13/ 8113 DIV FFTRY 55.0 (21/2) (-2) HPE
Li—iA70— B:XA1RXXML—F# NEFH RF

@ 71 L

) 50.9-38.7

NA> 2L | 12.4-11.0-12.1-12.2-12.9-12.8-13.0

® I —F—@EBIERL

13—7—

23—7F—

S=57= (x3,5) (1,2,13)6,8,10(12,11)-9-7-4

4A0—F— (¥3,5) (1,2) (13,6)8(12,10)11,9-7-4

[ RN

B OB 1 330H 714K 1-5 200M e & 1-4 450 &R 1-5-8 10,720M

8 B 1 140/ 1-8 2,630 B & 1=% 410 3B 1-5-8 38,400/

5 130M 5-8 2,400/ B H 1-5 920M
8 1,010

ABICOVWTRDTEEERROODE. TR LIV,




